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I nstructions to candidates

(&) Thispaper contains two sections: A and B.

(b) Answer all the questionsin section A.

(c) Answer question 6 and any other two questions from section B.

(d) All answers must be written in the answer booklet provided.

(e) This paper consists of 6 printed pages.

(f) Candidates should check the question paper to ascertain that all the pages are printed as indicated and that no

questions are missing.
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Arlsxﬁer all the questionsin this section.
S\

1. () Nametwo navigable ri\(@é‘in Africa (2 marks)
(b) Statethree reasonabw‘hy river transport is less developed in Africa. (3 marks)
2. Thediagram bel (i\gé;ows amethod of fishing. Use it to answer the questions that follow.
Q%Qg TS
&
%@(o
&
s
&
(@) Identify the method of fishing shown in the diagram. (1 mark)
(b) Describe how the method is used to catch fish. (4 marks)
3. (a) Nametwo areas where gold is mined in the Republic of South Africa. (2 marks)
(b) State three contributions of gold mining to the economy of the Republic of South Africa. (3 marks)
4. (a) Statethreefactorsthat have promoted the establishment of national parksin Kenya. (3 marks)
(b) Apart from establishment of game reserves and national parks, give two other methods of wildlife
conservation in Kenya. (2 marks)
5. (a) Definetheterm forestry. (2 mark)
(b) Givefourfunctions of forests. (4 marks)
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Answer questi Qm% and any other two questions from this section.
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6. Thetable below showsthe @ies of Kenya’s imports in million shillings between the years 2005 -

2009. Study it and use g\f‘o answer question (@)
AN

o 2005 2006 2007 2008 2009
Crude Petrol eg@é 45,954 | 47,005| 45,552 | 49,081 46,197
Industri gl@h}achi nery 33,516 | 35,556 37,137 | 41,772 38,993
RO%M otor Vehicles 24, 361 22,351 | 19,753 | 21,268 17,627
QI}DJ%Tmaceuticals 11,607 | 15,123 | 19,359 | 13,045| 15,789

&M (@) (i) Using avertical scale of 1cm to represent Kshs 5 billion, draw a comparative line graph to

@*e represent the above information. (8 marks)
Qo* (if) Other than comparative line graphs, name one other statistical methods that can be used to
represent the above data. (1 mark)
(b) Explain three measures that can be used to correct the unfavourable balance of trade in Kenya
(6 marks)
(c) (i) Givetwo factorsthat promote internal trade in Kenya. (2 marks)
(i) Statethree problemsfacing internal tradein Kenya. (3 marks)
(d) (i) Nametwo trading blocsin Africa of which Kenyaisamember. (2 marks)
(if) Statethree benefits of trading blocs to the economies of African countries. (3 marks)
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7. (8 (i) Definethefollowingterms. ¥
<O
= A factory Q}Q)“-

<
= Industrialization .

(2 mark)
(2 mark)

(i) Givethreereasgnswhy the government of Kenya encourages industrialization in the country .
N

&7
(b) (i) Name tv&oc"products of cottage industry in Kenya
(i) StateQ{?ir ee characteristics of the cottage industry i

X
(© () @r(?/e two reasons why primary industries are located close to the raw materials.

éﬁ% Name three examples of secondary industriesin Kenya.

\@) The diagram below is a map of the Ruhr Industrial regi
the questions that follow.

(3 marks)
(2 marks)
(3 marks)
(2 marks)
(3 marks)

on of Germany. Study it and use it to answer
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Exposed coal

e Major industrial area

(i) Nametheriverslabeled A and B
(i) Nametheindustrial areas marked X and Y

(2 marks)
(2 marks)

(iii) Explain three factors that led to the development of Iron and Steel industriesin the Ruhr

region of Germany.

(6 marks)
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8. (a) (i) Definetheterm transhumance, ¢¥

(i) State four characteristi cs\%fa\ﬁ%madi C pastoralism.
(b) (i) Namethreedairy br kept in Kenya.

(i1) Explain four coin'iTgiavouring dairy farming in the Kenyan highlands.
(o) (i) Statefour Iirnit%\’;ions of beef farming in Kenya.

(i) Givefou&&é’milarities between beef farming in Kenya and Argentina.

Q‘ZJ'

9. (@ () I&’a%\e two primary sources of population data other than census.
éﬁ% State thr eereasons why a country should conduct regular censuses.
x@) Explain how the following factors influence popul ation distribution
2 (i) Climate
(i) Industrialization

(2 marks)
(4 marks)
(3 marks)
(8 marks)
(4 marks)
(4 marks)

(2 marks)
(3 marks)

(3 marks)
(2 marks)

(c) Figure below shows the age — sex pyramid of a given country. Use it to answer the questions

that follow.

Females

B 1 2 o] a 2 4 G =]
Fercentage of total population

(i) Statefour characteristics of the population represented in the age — sex pyramid.

(4 marks)

(i)  What type of country islikely to be associated with the above age — sex pyramid? (1 mark)

(iii) State two advantages of using age — sex pyramids in representing population data (2 marks)

(d) Explain four problems of overpopulation in developing countries.

10. (@) (i) Define the term land reclamation

(8 marks)

(2 mark)
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(i) State four benefits that have r%sxﬂted from the reclamation of Y ala swamp. (4 marks)
(b) The diagram below shows the &H’étrlbutlon of irrigation schemes in Kenya. Use it to answer the
N
questions that follow. §f‘
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(i) Nametheirrigation schemeslabeled Q and R. (2marks)
(i) Nametheriver marked M (1 mark)
(iii) Explain fourphysical factors that favoured the establishment Perkerra Irrigation Scheme
(8 marks)
(c) Statefour problemsfacing irrigation farming in Kenya. (4 marks)
(d) () Whatisapolder? (1 mark)
(i) Givetwo differences between land reclamation in Kenya and Netherlands (4 marks)
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